inel= MyHL[X_, n_, t_]:=Hankel HL[(n-1) /2, X Exp[-t]]

n@a7= myH2[X_, n_, t_]1:=Hankel H2[(n-1) /2, X Exp[-t]]

infagi= MyHP1[x_, n_, t_] :=D[nmyHL[X, n, t], X]

nol= MyHP2[x_, n_, t_] :=D[myH2[x, n, t], X]

m[s0r= myBeta[x_, n_, t_J:=((n-1)/2-1x)nmyHL[x, n, t]+xnmyHPL[x, n, t]

n[51:= nmyBetastar [x_, n_, t_]1:=((n-1) /2+1 x) nyH2[x, n, t] +x nmyHP2[x, n, t]

ins2l= BE[X_, n_1:=x"(n-1) / (Exp[x] -1)

ine2):= ParticleDensity[x_, n_, t_]:=BE[X, n] nyBeta[x, n, t] nyBetastar [x, n, t]

in72;:= ParticleNunber [n_, t_]:=Re[Nintegrate[ParticleDensity[x, n, t], {x, O, Infinity}]]
in[73;:= Particl eNunber [3, 0]

out73)= 0. 186325

in[741:= Particl eNunber [3, 1]

out[74]= 7. 77392

in[7s):= Pl ot [Particl eNunmber [3, t], {t, 0, 1}]

out[75]=

0.2 0.4 0.6 0.8 10

in[7el:= Pl ot [Particl eNunber [3, t], {t, O, 10}]

3.0x 107 —
2.5%x107 *
2.0x 107 —
Oull7el= 1 gy 107
1.0x 107 *

5.0x 108 F
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in771:= Pl ot [Particl eNunber [4, t], {t, O, 1}]

out[77]=

0.2 0.4 0.6 0.8 1.0

in[7el:= Pl ot [Particl eNunber [4, t], {t, O, 10}]

20x10% -
15x 101 —
out[78]= 1.0x 101 L

5.0x10% -




